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Question No. 1

Which one of the following does NOT occur in a cheil

' Atoms are changed into other atoms.
Matter Is rearranged
Atoms react with other atoms.
Matter is conserved.
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هذا السؤال مو تسريب ولكن جانا في الاختبار وهو كان عليه اختلاف شويتين بس انا حوضحه هنا للي مو فاهمينه .. لحين يقولكم بالسؤال ايش اللي مايصير بالتفاعل الكيميائي ؟ لو نبدا من خيار B يقلكم المادة يعاد ترتيبها؟ ايوه صح دا الكلام من التعريف✅ 
نجي لخياري C يقولكم الذرات تتفاعل مع ذرات اخرى؟ ايوه صحيح ومن التعريف برضو✅ 
خيار D يقولكم المادة في التفاعل الكيميائي تنحفظ؟ ايوه طبعاً كمية المتفاعلات هي نفسها كمية النواتج ومستحيل يكون غير كدا ولا حيخالف قانون حفظ المادة 

iPad
نجي لخياري A يقلكم ذرات المادة تتحول لذرات اخرى؟ لا طبعا مستحيل هو ينتجلي مواد جديدة صحيح بس ماينتجلي ذرات جديدة يعني دحين انا اقدر ادخل ذرات حديد بالتفاعل واخرجها هيليوم؟ مستحيل طبعاً فالجواب هو A


Question No. 9

which of the following is a chemical property?

Density
Viscosity
Melting point

ACidity
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انتبهو كل العناصر ناخذ الفلنس الكترون تبعهم من رقم المجموعه مااااعدا الهيليوم مسستتثنى 
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' Total questions in exam' 26 | Answered: 8 —

. il o

Question No. 12

which statement aboul an atom s FAL SE?

The nucieus is at the center of an atom

I'he nucieus accounts for a small portion of the mass of an atom
The space occupied by the electrons s almos! emply

Ihe volume occupled by electrons is referred 1o as an electron cloud
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البروتونات مو صغيرة


- dissolving of sugar in water is

A | Physical change

J B | Chemical change

C Both

jDJNone

- dnssolvmg of salt ir in water IS

—— ——

A Physucal change

| B | Chemical change

'C Both

j D ;'i None
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اتوقع تكملة السؤال شكل غير ثابت


———— — . - ———— —

Question No. 10

Which of the following is a physical change?

) rusting of iron
' Sublimation of dry ice

flammability of propane gas

Daking the flour to make a cake
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كان الخيار الرابع Heat
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المركب ينفصل كيميائي فقط والعنصر اصلا ماينفصل 
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